	Math 2 Homework:

Final Review
	[Directions: With your group members race against the clock and other teams to correctly answer the given questions in each round. Your team will have two attempts to correctly answer each question. After you finish answering all questions in the round, have one person bring your team’s answer sheet up to the teacher. For each correct answer your team will receive 2 points. Go back to your team to correct wrong answers. Once done, turn your answer sheet into the teacher. Each correct answer will add 1 point to your final score for the round. Continue for each round.]

	Round One Questions:

	1. Which expression is equivalent to[image: image2.png]2x* - 72



?

A. [image: image4.png](2x —9)(x - 8)



             B. [image: image6.png](2x —9)(x +8)




C. [image: image8.png]x(x — 6)(x — 6)



             D. [image: image10.png](x —6)(x +6)




	2. A square has a side length of[image: image12.png](3x +5)



. Which expression is equivalent to the area of the square minus the perimeter of the square?

A. [image: image14.png]


                   B. [image: image16.png]Ox* + 18x + 45




C. [image: image18.png]


                   D. [image: image20.png]Ox® +42x + 45






	3. Jessica has $15. She bought 3 apples for x dollars each. Levi had $27 and bought 5 apples for x dollars each. Which expression represents how much money both Jessica and Levi have left altogether?

A. [image: image22.png]12 - 2x



                           B. [image: image24.png]27 — 5x




C. [image: image26.png]39 — 3x



                           D. [image: image28.png]42 — 8x





	4. Which expression is equivalent to  [image: image30.png]


?

A. [image: image32.png](2x —11)(2x - 11)



          B. [image: image34.png](2x —11)(2x +11)




C. [image: image36.png](4x —11) (x - 11)



            D. [image: image38.png](4x —11) (x + 11)





	5. Which expression is equivalent to  [image: image40.png]


?

A. [image: image42.png]4(t —4)(t - 4)



                               B. [image: image44.png]4t +4)(t —4)




C. [image: image46.png]4(t +2)(t - 2)



                               D. [image: image48.png]4(t — 2)(t - 2)




	6. What is the value of the larger zero of the function defined by   [image: image49.png]x* +12x + 27



 ?

A. 9                                        B. 3

C. -3                                       D. -9


	7. Which value is a zero of the function defined by

     [image: image52.png]x* +4x — 252



?

A. 9                                                  B. 12

C. 14                                                D. 21

	8. What are the zeroes of the function defined by       

     x2+9x+14
?
A. -7, -2                                  B. -7, 2

C. -2, 7                                    D. 2, 7

	9. Jason kicked a ball into the air. The function 

h(t) = 80t - 16t2 models the height of the ball, in feet, t seconds after it was kicked. How long does it take the ball to hit the ground?

A. 2.5 seconds                                    B. 5 seconds

C. 8.5 seconds                                    D. 10 seconds
	10. A rock is thrown up from the ground at a velocity of 84 feet per second. The formula [image: image56.png]h




 gives the rock’s height in feet after t second. What is the maximum height of the rock?

A. 68 feet                                B. 84 feet

C. 110 feet                                D. 179 feet

	11. [image: image57.png]A marathon is roughly 26.2 miles long. Which equation could be used to determine
the time, ¢, it takes to run a marathon as a function of the average speed, s, of
the runner where ¢ is in hours and s is in miles per hour?

A 26.2 - 26.25
s
B 26.2 - %632
c 26.2s
26.2

s




	[image: image166.png]2x+3)




12. 


	Round Two Questions:

	1. Which graph shows the solution set to    [image: image59.png]>-3x+2




?

A. [image: image60.png]293 45 06




      B. [image: image61.png]



C. [image: image62.png]


       D.[image: image63.png]



	4. The difference between two numbers is one. Three times the larger number minus two times the smaller number is 9. What is the value of the larger number?

A. 5                                               B. 7

C. 6                                               D. 8

[image: image167.png]2x+3)





5. A system of inequalities is shown below.

[image: image64.png]"
Iy
%
I
.




[image: image65.png]



[image: image66.png]



Which point is a viable solution to the system?

A. (4, -1)                                         B. (3, 2)

C. (5, -2)                                         D. (7, 0)



	2. Which graph shows the solution set to the system?

2x-2y≤6

4x+3y>9

A.[image: image67.png]65432



           B.[image: image68.png]



C. [image: image69.png]


          D. [image: image70.png]




	6. The function h(t) = 1,000(0.95)t  models the size of a mold culture t hours after being treated. What is the most appropriate domain for this function?

A. all integers                       B. positive integers

C. all rational numbers          D. positive rational numbers
[image: image168.png]



7. Which point approximately lies on the graph of the exponential equation with an initial value of 15 and a growth of 2.75%?

A. (1, 0.4125)                                       B. (3, 31.09)

C. (5, 50.5)                                           D. (14, 21.93)

[image: image169.png]



8. Which choice could be modeled by an exponential function?

A. the speed of a car that is decreasing by 3 mph every minute

B. the number of push-ups a person does each day if the number of 

     push-ups increases by 2 each day

C. the amount a person gets paid if the person’s pay increases by 2 

    percent each year

D. the number of students in a class if no students join or leave the 

     class

	3. In which graph is y a function of x?

A. [image: image72.png]X

6754 p 210 ‘12734756



         B. [image: image73.png]SSa s 2io T2 s kY




C. [image: image74.png]X

65432710 12314756



         D. [image: image75.png]X

6543210 /12735




	9. Which expression is equivalent to 

(3x5 + 17x3 – 1) + (-2x5 – 6) ?

A. X5 + 17x3 – 7


B. 5x5 + 17x3  + 7

C. [image: image170.png]


X5 – 11x3 – 1


D. -6x5 + 17x3 + 6

10. Which is an equation of the function graphed below?

[image: image171.png]


[image: image76.png]




	Round Three Questions:

	1. Which of these transformations are isometries? 

(I) parallelogram EFGH [image: image77.png]


 parallelogram XWVU
[image: image78.png]



(II) hexagon CDEFGH [image: image79.png]


 hexagon YXWVUT
[image: image80.png]



(III) triangle EFG [image: image81.png]


 triangle VWU
[image: image82.png]



A. I only                                         B. II and III only

C. I and III only                             D. I, II, and III


	5. Name the congruent angles and sides for the pair of congruent triangles  [image: image84.png]ASKL ~ ACFG



.

A 

[image: image85.png]


 [image: image86.png]



B 

[image: image87.png]LR LK =LG AL




 [image: image88.png]



C 

[image: image89.png]


 [image: image90.png]



[image: image172.png]


[image: image173.png]


[image: image174.png]


D 

[image: image91.png]


 [image: image92.png]





	2. A tree casts a shadow that is 150 feet long. If the angle of elevation from the tip of the shadow to the top of the tree is 30˚, how tall is the tree to the nearest foot?

[image: image93.png]150 feet




A. 87 feet                                         B. 106 feet

C. 212 feet                                       D. 259 feet

[image: image175.png]



3. Which equation is equivalent to[image: image95.png]


?

A. [image: image97.png]


                                         B. [image: image99.png]



C. [image: image101.png]


                             D.[image: image103.png]k=2U; —x*




	8. Jessie is working on the roof of her house. She has measure the angles of the roof and the length of the roof. Determine the width of the house.

[image: image104.png]15 ft, 15 ft.

35°

w




A. 18.31 ft.                                         B. 24.57 ft.

C. 12.29 ft.                                         26.15 ft.

[image: image176.png]Which function is even?
A Ax)=(x+2)(x-2)
Ax) = x(x +2)

fx) = (x + 1)(x - 2)
fx) = (x =1)(x - 1)

o o0 ®




9. The volume of sphere is 523 cubic cm. What is the approximate measure of the radius? 

A. 5.0 cm                                                  B. 6.1 cm

C. 14.8 cm                                                D. 15.0 cm



	[image: image177.png]The time, t, in hours, that it takes x people to plant n trees varies directly with
the number of trees, and inversely with the number of people. Suppose 6 people
can plant 12 trees in 3 hours. How many people are needed to plant 28 trees in
5 hours and 15 minutes?

A 6

o0 W

7
8
9



4. Find the value of y.

A. [image: image106.png]5cos 28




        B. [image: image108.png]5s5in28





C. [image: image110.png]


             D. [image: image112.png]




	10. The volume of a cylinder is 254 cubic centimeters. If the height measures 9 cm, what is the approximate diameter of the cylinder?

A. 3 cm                                               B. 5 cm

C. 6 cm                                               D. 9 cm


	Round Four Questions:

	1. The sum of two numbers is 24. The sum of the squares of the two numbers is 306. What is the product of the two numbers? 

A. 119



C. 135

B. 128



D. 144


	2. Which equation has exactly one solution?

A. 4x2 – 12x  - 9 = 0

C. 4x2 – 6x – 9 = 0

B. 4x2 + 12x + 9 = 0

D. 4x2 + 6x + 9 = 0



	3. A circular pond is modeled by the equation x2+y2= 225. A bridge over the pond is modeled by a segment of the equation x– 7y = –75. What are the coordinates of the points where the bridge meets the edge of the pond? 

A. (9, 12) and (–12, 9)

C. (9, –12) and (–12,–9)

B. (9, 12) and (12, 9) 

D (–9, 12) and (12,–9)


	4. If t is an unknown constant, which binomial must be a factor of 7m2 + 14m – tm – 2t?

A. 7m + t



C. m + 2

B. m – t



D. m - 2



	5. Which expression is equivalent to 
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C. 
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	6. Which graph displays the function f(x)=(2x+ 3)(x– 2)? 
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	7. The angle of elevation from point G on the ground to the top of a flagpole is 20˚. the height of a flagpole is 60 feet. Which equation could find the distance from point G to the base of the flagpole?

[image: image122.png]60 feet.

20° l




A. [image: image124.png]


         B. [image: image126.png]sin 20 = -




C. [image: image128.png]tan 20 = —



                 D. [image: image130.png]tan 20





	8. What is the approximate area of the trapezoid?

[image: image131.png]12em

8 -




A. 83 cm2                      B. 110 cm2
C. 128 cm2                    D. 192 cm2


	9. A dead tree was struck by lightening causing it to fall over at a point 10 ft up from its base. If the fallen treetop froms a 40˚ angle with the ground, about how tall was the tree originally?

[image: image178.png]The force, F, acting on a charged object varies inversely to the square of its
distance, r, from another charged object. When the two objects are 0.64 meter
apart, the force acting on them is 8.2 Newtons. Approximately how much force
would the object feel if it is at a distance of 0.77 meter from the other object?

A 1.7 Newtons
B 5.7 Newtons
c 11.9 Newtons
D 12.9 Newtons



[image: image132.png]



	10. An inflated round ballon with radius r=50 centimeters holds 523,600 cubic centimeters of air. When the balloon is contracted such that the radius is [image: image134.png]


 the original size, what is the volume of the partially deflated balloon?

A. 1.94 X 104 cm2                                B. 1.55 X 105 cm2
C. 1.75 X 105 cm2                                D. 3.49 X 105 cm2


	Round Five Questions:

	1. You sell tickets for admission to your school play and collect a total of $104.  Admission prices are $6 for adults and $4 for children.  You sold 21 tickets.  How many adult tickets did you sell? 

A. 11                                     B. 20

C. 10                                     D. 22


	2. Which expression represents 
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 in simplest form?

A. -2ac4                                    B. -2ac6
C.
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	3. Which expression is equivalent to 
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	4. Which equation represents the axis of symmetry of the function
[image: image146.wmf]6
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A) x=1


B) x=-1



B) x=3


D) x=-3



	5. If y varies directly with x and y is 18 when x is 6, which of the following represents this situation?

A) y = 24x

     B) y=3x


C)  y = 12x

     D)  y = 
[image: image147.wmf]3

1

x


	6. Suppose x and y vary inversely, and x = -3 when y = 
[image: image148.wmf]3

1

. What is the value of y when x = 9?

A) -9

                B) -1


C) 
[image: image149.wmf]9
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                D) 
[image: image150.wmf]9
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	7. The formula for the area of the trapezoid is A = 
[image: image151.wmf]  
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, which polynomial represents  the area of the trapezoid?

[image: image179.png]Congruent squares; with side lengths of x, are cut from the corners of a
12-inch-by-16-inch piece of cardboard to form an open box. Which equation
models the surface area, y, of the open box after the corners are cut away?

A y=(16-20(12-2%)
B y=(16-2x)(12 - 2x) + 4x*
C  y=192-16%

D y=192-4x




A.
16x3 + 8x2 - 8x

B. 
8x3 + 8x2 - 6x 

C. 
8x3 + 4x2 - 4x

D. 
6x5 + 4x4 + 4x3 + 8x2 - 16x 
	8. The perimeter of the triangle below is  [image: image154.png]10x 2 —
6x + 1






[image: image155.png]5x+7

8x2-4x




What is the length of the missing side?

A) [image: image156.png]%2 — 5y — 8



                  B) [image: image157.png]"' — Ty — 6




C) [image: image158.png]Ry +
x +
7



                      D) [image: image159.png]18%2 —
5y + 8





	9. A company’s profit is described by the equation [image: image160.png]P(x)= — 5x%+300x + 15,000,



 where x is the price in dollars that the company charges for its product. What should the company charge for the product to generate the maximum profit?

A) $20                              B) $30
C) $50                              D) $60
	10. Which of the following functions has the same set of zeros as 
      the function [image: image161.png]F(x)=x*—6x+8?





A) [image: image162.png]g(x)=x—4



                               B) [image: image163.png]g(x)=x*—5x+6




C) [image: image164.png]g(x)=2x*—12x + 16



           D) [image: image165.png]g(x)=x"—6x*+8x






[image: image180.png]Farmer Brown built a rectangular pen for his chickens using 12 meters of fence.

«  He used part of one side of his barn as one length of the rectangular
pen.

. He maximized the area using the 12 meters of fence.

Farmer Johnson built a rectangular pen for her chickens using 16 meters of fence.

«  She used part of one side of her barn as one length of the rectangular
pen.

«  The length of her pen was 2 meters more than the length of
Farmer Brown’s pen.

«  The width of her pen was 1 meter more than the width of

Farmer Brown’s pen.
How much larger is Farmer Johnson’s rectangular pen than Farmer Brown's?
A 24 square meters
B 18 square meters
C 16 square meters
D

14 square meters



[image: image181.png]The towers of a suspension bridge are 800 feet apart and rise 162 feet higher than
the road. Suppose that the cable between the towers has the shape of a parabola
and is 2 feet higher than the road at the point halfway between the towers.

800 feet

162 feet

What is the approximate height of the cable 120 feet from either tower?
A 80 feet

B 74 feet
c 22 feet
D 16 feet



Round 6:  Answer each question to the best of your ability, and then turn in your group answer sheet to Ms. Russell.  Remember, the answer on your answer sheet is your final answer.

[image: image182.png]The cost of a newspaper advertisement is a function of its size.

«  Acompany wants its advertisement to have a height that is twice its

width.

«  The newspaper charges a flat rate of $50 plus an additional $10 per
square inch.

«  The company can spend no more than $2,050 on the advertisement.

What is the maximum height of an advertisement that the company can afford?

A 5 inches
B 10 inches
c 15 inches
D

20 inches




[image: image183.png]An investment has a balance of $2,000 and earns 3.2% interest each year. If $150
is added at the end of each year by the account holder and no money is withdrawn
from the investment, which represents a function that can be used to calculate the
investment balance for successive years?

A B, = 0.032B,-1 + 2,000, B, = 150
B B, = 0.032B,-1 + 150, B, = 2,000
Cc B, =1.032B,-1 + 2,000, B, = 150
D

B, =1.032B,-1 + 150, B, = 2,000




[image: image184.png]Which expression is equivalent to (8wx"%yz”) 12

1
A x3z°
I

aw3y?




 

[image: image185.png]A system of equations.is shown below.

What is the smallest value of y in the solution set of the system?
A 4

B 2
c 8
D 16







A. � QUOTE � ���                                  B. � QUOTE � ���


C. � QUOTE � ���                                  D. � QUOTE � ���





6. The difference in the measures of two supplementary angles is 76˚. What is the measure of the smaller angle?





A. 14˚                                                    B. 22˚


C. 28˚                                                    D. 52˚





7. A container is in the shape of a square pyramid. The length of the side of the square measures 6 inches. The height of the container is 9 inches How much water will the container hold? 


A. 18 cubic inches                         B. 21 cubic inches


C. 108 cubic inches                       D. 162 cubic inches





A. 13 ft                  B. 16 ft


C. 23 ft                 D. 26 ft 
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